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books, calculators, cellular phones, scanning devices,
pagers, blue-tooth devices, I-pads and any other electronic
devices to the Examination Hall. Any candidate found
using, or in possession of such unauthorized material,
indulging in copying or impersonation or adopting unfair
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I, &SH, YA, d8I8cd, HB®I 86, Hdfsd Sudds, Und,
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question booklet and the OMR Answer Sheet. DO NOT
carry the question booklet or any part of it, outside the

examination room. Doing so, is a punishable offence. /
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6) The test is of objective type. This Question Booklet
contains a total of 100 questions and the total time allotted
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fer yas yAf3ar fi€9 100 yrs AiHs g5 »3 98 AHt 120 fHe 31

7) Each objective question is followed by four responses.
Your task is to choose the correct response and mark your
response on the OMR Answer Sheet and NOT on the
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€39 Ta 373 aH At €39 €t I adsT W3 Eng Hie 3
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8) Candidate is required to attempt all questions. All
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MARKING. 0.25 marks will be deducted for each wrong
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29C

In which year Punjab was annexed by British?
A) 1847

B) 1857

C) 1843

D) 1849

When was Asiatic Cheetah declared as extinct in
India?

A) 1952

B) 1965

C) 1976

D) 1982

When was quit India movement started by Indian
National Congress?

A) 1942

B) 1945

C) 1937

D) 1935

Rust is hydrated:

A) Aluminium oxide

B) Copper oxide

C) Iron oxide

D) Silica

The term “New systematics” was coined by
A) Aristotle

B) John Ray

C) Julian Huxley

D) Engler

Where was first World War centered?

A) Europe

B) Asia

C) Africa

D) America

wfargdt & faa3 7 Ui €73 agq ag f831?

A) 1847

B) 1857

C) 1843

D) 1849

3733 {29 efiprret 913 3 oe gu3z Wiz 3T famur 2

A) 1952

B) 1965

C) 1976

D) 1982

3793t IHC! TGN EMTdT 9193 B3 MEBs 9€ Hg
3T fapu H?

A) 1942

B) 1945

C) 1937

D) 1935

Har gretges A Asuias:

A) MeHiEH MaATets J

B) Iud mraAels J

C) »ifegs mramrdls

D) fr&tar J

Hee "&<t Sgdfitads-fefams" &t 4a feast & oSt

A) gz

B) 53

C) a&vis Jams

D) ¢&dwa

Ufg® feme wu = ded fag Hi?
A) @u

B) extur

C) miedtar

D) »Hdtar
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29C

10.

11.

What was the period of Second World War?

A) 1939-1945

B) 1932-1940

C) 1935-1947

D) 1938-1948

In which of the following state Bokaro Steel Plant
is situated ?

A) Jharkhand

B) Bihar

C) Gujarat

D) West Bengal

Under Five Kingdom classification,
Chlamydomonas and Chlorella belong to which
of these kingdoms?

A) Animalia

B) Plantae

C) Protista

D) Fungi

For which of the following industry is Bhadrawati,
Karnataka famous?

A) Cotton Textile

B) Woolen textile

C) Silk Textile

D) Iron and Steel

Area of Punjab that is between rivers of Beas
and Satluj is called as

A) Majha

B) Malwa

C) Doaba

D) Giddha

10.

11.

o fere wa & e ot #?

A) 1939-1945

B) 1932-1940

C) 1935-1947

D) 1938-1948

§a13 FE Uste fors 25 fam i3 i Aies 37
A) sz

B) fagura

C) T

D) vt sfars

U YAt Sgdfidas € MeHd, ISTHSHE™ M3 TSHIST
fom ymrdt & Hetaz 987

A) watis

B) uztdt

C) Yfewer

D) g€ #f greft

JI&Ted @ gagred! forafeys &9 faazs Oetar =i
yfHg 37

A) 7t duz

B) €=t duz

C) Imh su=

D) &g w3 fermur3

fo W3 A3EH It st fegaas UAe €839 &
ot faar AteT I

A) Mgt

B) H&er
C) gwmgr
D) farar
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29C

12.

13.

14.

15.

16.

17.

In which year Guru Granth Sahib was accorded

the status of Guru

A) 1664

B) 1704

C) 1699

D) 1708

Name the joint capital of Punjab and Haryana
A) Jaipur

B) Lucknow

C) Chandigarh

D) Amritsar

Where is the Gobindgarh Fort?

A) Amritsar

B) Chandigarh

C) Mansa

D) Bathinda

The device used for producing electric current is
called a

A) Voltmeter

B) Galvanometer

C) Ammeter

D) Generator

Brass is :

A) An alloy

B) A radioactive element
C) A non-metal

D) A metalloid

Where is Majha region?
A) Central Punjab

B) North East Punjab

C) South East Punjab
D) South Punjab

12.

13.

14.

15.

16.

17.

fgg3 7 &9 919 98 Arfgg & 9 <t ue<t g &t
AfaHt It Hi?

A) 1664

B) 1704

C) 1699

D) 1708

Urrg w3 gfgmrer &t Aigt guTat € 51 €R
A) g

B) ®usg

C) oz

D) nffizws
difdeqs = faor fag 37
A) »iftErg

B) o

C) HaH

D) sfesT

feredt € Jde §3Us 995 Bt <93 A€ Guade &
fagr ater J

A) swarfies

B) dwadies

C) #nphieg

D) #z3eq

3w fea:

A) g T3 J

B) I&Ftowafee 33T
C) »u3 J

D) Suas d

H™S €7 439 fag 37

A) dedt uas

B) €39 ygg uw

C) dy< yag U
D) Syt urAe
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29C

18.

19.

20.

21.

22.

Which of these accelerate growth in plant
stems?

A) Vitamin

B) Giberlin

C) Phytochrome

D) Auxin

Who was the Governor-General of India at the
start of Quit India Movement?

A) Lord Irwin

B) Lord Curzon

C) Lord Linlithgow

D) Lord Reading

The reaction, Hx+Clo—»2HCl is:

A) An oxidation reaction

B) A reduction reaction

C) A combination reaction

D) An isomerisation reaction

Which ceremony is observed in the morning of
the wedding day?

A) Ghori

B) Ganna

C) Gharoli

D) Jaggo

Italian Fascism gravitated to the right in which
period?

A) The early 1920s

B) The early 1910s

C) The early 1940s

D) The early 1900s

18.

19.

20.

21.

22.

fegst f&9 faoz e @ 33 &9 3 o5 = gger I?

A) feerfhs

B) frsgts

C) erfeegu

D) niafhs

93 83 MEBs Hd I & I'I3 € JILIEI-16IH JS
H?

A) g3 feafes

B) ®93 d376

C) ®93 feafegdt

D) ®g3 difsar

yFferfanr, Ha+Clos2HC :

A) e mrartags YIfafanr I

B) fea nieads yIifafanr J

C) f&a Hums ySifafanr I

D) fea miufenfafsa ySHfafonr 3

forg =& fes &t A9 3 fagdt I3 it At 37

A)

B) drar

C) wist

D) #rdt

fom s fe9 ezt eiee & 3am H-nifaag <
famm?

A) 1920 €. & »ds i

B) 1910 €. @ nidy f9

C) 1940 . & ndg f&g

D) 1900 &, & »dg f&g
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29C

23.

24.

25.

26.

27.

On which river has the Nagarjuna Sagar Dam
been constructed?

A) River Coyaba

B) River Krishna

C) River Godavari

D) River Tapti

Which of the following crop is a Zaid crop?

A) Maize

B) Paddy

C) Wheat

D) Watermelon

What type of organisms are Bacteria?

A) Acellular organisms

B) Prokaryotic Organisms

C) Monocellular Organisms

D) Eukaryotic Organisms

India has one of the largest networks of which of

the following modes of transport?

A) Roadways

B) Railways

C) Waterways

D) Pipelines

What was the immediate cause for the first world

war?

A) Assassination of Archduke Franz Ferdinand
of Austria

B) Attack on Poland

C) War between France and Rome

D) War between England and Germany

23.

24.

25.

26.

27.

BIMIds HAd €6 faadt ot 3 gerfonT famr 37
A) e Bt

B) famar et

C) dreredt 5t

D) 3t <t

forafeyz fed faodt ens o3t W3 At € wafimms
i+ 7= Tt (Frfee en®) eAS J7

A) Hdft

B) s

C) g

D) zeuw

gaodh fan yarg € e 957?

A) wigfisft e

B) GafaGfea e

C) feg Jfireft =

D) wafsGfea Ht=
193 &g mieraeht € fag3 Fus € A9 3 <357 7%
fefemr Ifemr 32

A) A= Hgar

B) Jmvraar

C) wgHaar

D) yrehumretet

Ufa® fere §u = 339®ls Jds off H?

A) WHedMT € MIafsEd edw eaa1ds of JIfamr
B) U&3 ‘3 qH&

C) TIH M3 I fegarg gu

D) fEa®3 W3 AHat fegad wu
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29C

28.

29.

30.

31.

32.

Which of these four maharatnas markets steel
for the public sector plants?

A) SAIL

B) BHEL

C) ONGC

D) NTPC

Lime water is an aqueous solution of

A) Calcium carbonate

B) Calcium chloride

C) Calcium hydroxide

D) Calcium bicarbonate

Which Governor General annexed Punjab?
A) Harding

B) Dalhousie

C) Metcalf

D) Bentic

Which type of rainfall is received by Punjab in
July - August?

A) Monsoon

B) Western disturbances

C) Local rainfall

D) All of these

What is the angle between the geographic
meridian and the magnetic meridian at a place is

called?
A) Magnetic Declination
B) Magnetic Inclination

C) Horizontal component of earth's magnetic
field
D) Magnetic dipole

28.

29.

30.

31.

32.

fegat 979 HaTa3at fed faas™ Ardenfed 439 ©
FrauTtent st ferurs €t udte-eduz ager 97
A) AsmmEnmeis

B) 3m/dhimthis

C) &

D) wadhfirft

Han<! 7 fog T uret femer 7et us 3

A) ISHMWMH TIEde

B) d&H I&aets

C) JIHMH TetrarTets

D) d&HMH gfearadse

fag3 egad Aads 3 Ung €73 agqr o312
A) Tafsa

B) s®uGHt

C) feare

D) ¥afeq

Aot viam3 @ WS feg uamg e fam famy e ffia
Ter J?

A) HGHS

B) uaHt suzs

C) waad Hfg

D) feg A

o HaTs € gaifea Hits w3 gaat Himws fegaas
de g off fagr Ater 37

A) daft uzaHtes
B) desft 5@
C) fygdt € Judt u39 e fufsHt 7f et g

D) gt €-ude
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29C

33.

34.

35.

36.

37.

What is the popular food of Punjabi's?

A) Dhokla

B) Sarson ka saag

C) Thepla

D) Idly

Which of the following is a mismatch?

A) Root nodules - Legume

B) Exarch Xylem - Roots

C) Smut - Puccinia

D) Endarch xylem - Stem

Which of the following are the Big Three in the
2nd World War?

A) Roosevelt, Churchill , Stalin

B) Churchill, Hitler, Stalin

C) Stalin, Hitler, Mussolini

D) Hitler, Mussolini, Roosevelt

The north-south corridor joins which of the
following places of India?

A) Srinagar to Kanyakumari

B) Srinagar to Rameswaram

C) Shimla to Kochi

D) Dehradun to Kanyakumari

In which direction of India Punjab is located?
A) North South

B) North west

C) North East

D) South East

33.

34.

36.

37.

UHTE §T HAYT 376 ot 97
A) BIsT

B) waW € Al

C) fus

D) fes=t

fors &9 fags anis 37
A) drEaHT 73 - egterg Uer
B) #Wanad wifesH - 73t
C) ugeTd - ufgHtstur

D) wianad e - 3T

faadnt °#a?

A) a8, 9afus, Aafss

B) vafys, fuemq, Aerfss

C) mefss, faesa, Hifsat

D) foewa, mifsst, gaese
§°3dt-Tuct aifents 3793 @ Jof fefimrt feg ooz
HEST & 73€ I87

A) Hiaag 3 Sfenmantdt

B) rftsarg 3 gmean

C) finmr 3 a<ht

D) ag9rgs 3 dfammantdt

Urrg 993 ©t fam fomr &9 nfes 372
A) €39 Tuc

B) €739 usH

C) €33ysw

D) €Y< yay
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29C

38.

39.

40.

41.

42.

Copper wires are used for electrical connections.

Why?

A) Because electrical resistivity for copper is
high

B) Because electrical conductivity is low

C) Because electrical conductivity is high

D) Because both electrical resistivity is high and
electrical conductivity is high

Teeyan festival is celebrated in which following

months?

A) Phagan

B) Cheter

C) Sawan

D) Bhadron

Which one of the following describes a system of

agriculture where a single crop is grown on a

large area?

A) Intensive Agriculture

B) Horticulture

C) Shifting Agriculture

D) Plantation Agriculture

Lohri is essentially a festival dedicated

A) Tofire

B) To soil

C) To water

D) To moon

What is the Sl unit of magnetic field?

A) Tesla

B) Kelvin

C) mho

D) Siemen

38.

39.

40.

41.

42.

31F Ehit 397 <t =93 faret @ Jdars et St At
N fag?
A) fe€fa 318 <t faredt yStouast wfta 9

B) faSfy foret fonesdt grga3 we 9

C) fabfa fonet famset g@az mifug 3
D) fatfe ferne fameet yFiduas w3 famsdh
TBI3T &< Jt mifad I&

3?

A) eI

B) ¥39

C) w<s

D) =g

forafouz f&g fan o3t yoat fio g fAenz <3 63
feg Garet 7t 32

A) st gt

B) grarerat

C) marsisfos gt

D) du= gt

B3t = f30079 Wi 39 3 form ot & s 37
A v

B) fiEts

C) uAE

D) 9%

gt a3 <t S foardt ot 3?7
A) 2Hs

B) Swfes

C)n

D) i
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29C

43.

44,

45.

46.

47.

What is the latitudinal extent of Punjab?

A) 73055' north to 76°50' north

B) 29930' north to 32°32' north

C) 30°29' north to 30°30' north

D) 25%30' north to 40°32' north

Which among the following is the most popular
dance of men of Punjab?

A) Bhangra

B) Garbha

C) Disco

D) Kathak

Where did Mahatma Gandhi start his first
Satyagraha movement in India?

A) Champaran

B) Orissa

C) Kheda

D) Calcutta

Property of a coil by virtue of which it opposes
the change of current through it by inducing emf
in itself is called

A) Self-induction

B) Mutual induction

C) Admittance

D) Impedance

What are negatively charged particles called?
A) Electrons

B) Atomic nucleus

C) Protons

D) Neutrons

43.

44,

45.

46.

47.

U & miagatH fersTa-u3g foar 37

A) 73955' §33 3 769°50' €39

B) 29030' €39 3 32032' 39

C) 30029' €33 3 30°30' €39

D) 25°30' §39 3 40°32' €39

I faftmit f&9 yrme € yant & /8 3 yfHu &9 fagsr
J?

A) Fa=

B) drgst

C) fsma

D) dgd

HI3HT ATt & 9733 f&g niyeT ufasT Afswrafg Wess
forg Hg oft3 Hi?

A) dyge

B) &3t

C) =

D) J&d3T

3% ©t B fenns g ot faar AT J fare € 9795 feg
MU nieg emf Ufg3 Iad for fE9 Imas T& dde &
gEse 3 daT J?

A) R-yge

B) ugnug Yde

C) ugaw

D) yIigar=e

foe gran gt & ot fagr Ater 37

A) fe&ads

B) yHe d=d

C) &=

D) fs€<s
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48.

49.

50.

51.

52.

53.

In which of the following area of Punjab the
largest number of steel rolling mills is located?
A) Ludhiana

B) Mandi Gobindgarh

C) Bathinda

D) Jalandhar

In which month Festival of Basant Panchami
celebrated?

A) Chetar

B) Magh

C) Phagun

D) Poh

Guru Di Maseet at Gurdaspur is

A) A garden

B) A mosque

C) Atemple

D) A gurudwara

Punjabi language is derived from

A) Pishachi

B) Magdhi

C) Shourseni

D) Hindvi

The cotton belt of Punjab is located in which
geographical region of Punjab?

A) Doaba

B) Majha

C) Malwa

D) Pothohar

A reaction in which, under equilibrium, both
reactants and products are present is called as
A) Exothermic

B) Endothermic

C) Reversible

D) Irreversible

48.

49.

50.

51.

52.

53.

Uare &t I fefnrt faagdnt gief feg Ag 3 <0
faredt fieg vts Sfsar thsst mafus 98?

A) sBftrer

B) W3t difdears

C) gfssT

D) A®ug

gH3 ot = {389 faaz vdts fa Harfonr ater 372

A) ¥339

B) v

C) eare

D) Ug
Jge™Ud fed arg & HHt3 ot 372
A) feq gmar

B) fex wrfae

C) fext g

D) f&& qrgeerar

Urrdt g fan 3 yuz it ardt 97
A) it

B) wardt

C) Hordt

D) foe<t

Ure € fao3 gaifed fegd fidg unmg & des Sue
AfEg3 37

A) T

B) wrsr

C) H&er

D) Uggg

8a ySHfafon fam e, H3ss € »izgas, yItaaa »3
A) 31y fagmt

B) 3u gHt

C) yIeash

D) mufgeazsHls
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29C

54.

55.

56.

57.

58.

59.

Who was the founder of fascism in Italy?
A) Adolf Hitler

B) Emilio Gentile

C) Benito Mussolini

D) Stanley G. Payne

What is the S. | unit of electric current?

A) Coulomb

B) Ampere

C) Ohm

D) Tesla

In which year India - Pakistan partition took
place?

A) 1954

B) 1947

C) 1956

D) 1949

Which of the following plant hormones causes
wilting in leaves?

A) Ethylene

B) Auxin

C) Gibberlin

D) Abscisic acid

What happens to resistance of a metal with
increase in temperature of the metal?

A) Increases

B) Decreases

C) Remains same

D) First decreases and then increases
Who is the President of NSWAI (National Solid
Waste Association of India) in the year 20137
A) Dr. Amiya Kumar Sahu

B) Dr. Amrita Sahu

C) Dr. Sarita Sahu

D) Dr. Lalit Sahu

54.

55.

56.

57.

58.

59.

ot feg eftee #f efAee= € AFEUd de A8?
A) m3se faesa

B) efhfsG Heets

C) sfsd Hrfgat

D) meagt . ufed

foaet € gde &t S. | feardt ot 32

A) g
B) whnftig
C) &an
D) 2gmr

I3 — Ufan3™s <t @3 fam A Je?

A) 1954
B) 1947
C) 1956

D) 1949
fons f&9 Ue € faa3 IdHis € 9d& U3 IHdd J ATe

LY

A) gdtgts

B) wiafirs

C) frgggts

D) wrafirafed nivs

fan o3 € IunTs feg T Je &8 B U3 € Y35y
'3 &t niAg Uer 37

A) sgaterd

B) wemer g

C) gt afder 3

D) ufgst =u arer I w3 feg we Ater I

A% 2013 fEg Menrsafsend (3nes Afss Ine
wHfErs mire fEdhm) T yors Je J7

A) 37wttt g TG

B) s wifimr Ay

C) 3. afgzr Arg

D) = mfgz Arg
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29C

60.

61.

62.

63.

The acid present in an ant’s sting is :

A) Acetic acid

B) Methanoic acid

C) Citric acid

D) Tartaric acid

What strength of 30ml alcohol should be
added to 15ml of 40% alcohol to get an
average strength of 20% alcohol?

A) 12%

B) 15%

C) 10%

D) 8%

Divide 102 into two parts such that one third
part of the first and the three-fifth part of the
second are in the ratio 4:3. Find the two
numbers?

A) 52,50

B) 72, 30

C) 70, 32

D) 56, 46

The population of a city has increased to
105% of its value last year. If the population
this year is 3.15 lakhs, what was last year’s
population?

A) 3.5 lakhs

B) 3.25 lakhs

C) 4 lakhs

D) 3 lakhs

60. =t € Sa1 v feg s Hge ger o

61.

62.

63.

A) mHfed »HS
B) HE&Ted mH®
C) Arfefed miHs
D) grgefad mHS
40% MBads =% 15t fhmae feg 30fh=t

MBI df faat H3ar et 7ret grdit 3 37 fa
MBAIS df WAz H3aTT 20% J=27?

A) 12%
B) 15%
C) 10%
D) 8%

102 ' € 9ot feg for yarg <3 fa ufags gar &
feq f3gret g1 w3 g I91 € 35 g7 € UaAR gmar
T WEUTS 4:3 32| B< A=t 3T 937?

A) 52, 50

B) 72, 30

C) 70, 32

D) 56, 46

far wfag €t Aot fee fUgs s <t 3wa fieg
105% =7 =g Ifonm| dad for s ot AsriymT

3.15 84 3, 37 fugs ws 58 <t Aarho faat
HI?

A) 3.5 By

B) 3.25 By

C) 4 By

D) 3 B4
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64.

65.

66.

67.

The cost of production of a product in a
particular year is Rs.600, divided between
material, labour and overheads in the ratio
4:5:3. What will be the marked price if the
profit is equal to 10% of the labour cost?
A) Rs.610

B) Rs.625

C) Rs.675

D) Rs.650

A diver dives to a depth of 650ft into the sea
and ascends 405ft. What is his position?
A) 245ft below the sea level

B) 1055ft below the sea level

C) 145ft below the sea level

D) 245ft above the sea level

What is the middle number of the three
numbers which are in the ratio 5:3:4 and
sum of whose squares is 32007

A) 36

B) 24

C) 25

D) 30

The average of 20 numbers is 23.25. The
average of first 9 numbers is 21.34 and the
average of the last 12 numbers is 24.01.
Find the 9th number?

A) 13.18

B) 15.18

C) 15.28

D) 15.81

64.

65.

66.

67.

far fefime ws feg g G3ue <t G3ues a3
600 4. J, 7 fa AHardt, Haedt w3 §Ua® yas
f29 4:5:3 € »izyr3 feg <5t 3¢t 3| Aagd ®9
HAgd! 8O3 € 10% € 999 J, I G3ue &
g99 H& fgar I=ar?

A) 610 3.

B) 625 1.

C) 675 4.

D) 650 g.

f&q 3™ mHEd <9 650 g< <t afaaret 39
Il BargeT I W3 405 ge §ug miger J1 Gt
At ot 3?7

A) miedt 38 3 245 g2 Tt

B) miedt 3% 3 1055 g2 It

C) mfedt 35 3 145 g< It

D) mdedt 3% 3 245 g §Ug

fam f3s At € fegarg=t At ot J2aft et
T EUT3 5:3:4 I w3 BTt At @ <gar =7
73 3200 J?

A) 36

B) 24

C) 25

D) 30

20 "t g7 »inz 23.25 J1 ufgst 9 Hitmyret
T A3 21.34 3 3 UgaEt 12 Aitpwret 7 winz
24.01 31 9= Aitpwm U3 93|

A) 13.18

B) 15.18

C) 15.28

D) 15.81
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68. Which of these cannot be the product of 68. foat & foradt witmir fSs b Uas Hitmiret =
three consecutive integers? Ie5 38 5t I At 37
A) 336 A) 336
B) 232 B) 232
C) 120 C) 120
D) 1320 D) 1320
69. 50ltrs solution contains milk and water in the  69. 50 fgeg W f&g €U W3 Ut @7 wmigut3 2:3 I
ratio 2:3. How much water should be added n U 29 fofar uret I firgtfonT arer grdter 9
to bring the ratio to 2:5? for STaT &1 mguTs 2:5 I AL?
A) 10ltrs A) 10 feeg
B) 5ltrs B) 5 fees
C) 20itrs C) 20 fseg
D) 21itrs D) 21 fse3
70. Simplify: t/2 +2t2+t+5/6 +1+t2/3="7 70. Ao Ad: t2 +2t2+t+5/6 + 1 +1t2/3="7
A) t2/6 +t/12 + 11/6 A) t2/6 +t/12 + 11/6
B) 7t2/2 + 3t/3 + 11/6 B) 7t2/2 + 3t/3 + 11/6
C) 7t2/3 + 3t/2 + 11/6 C) 7t2/3 + 3t/2 + 11/6
D) 7t2/3 + 3t/2 + 1/6 D) 7t2/3 + 3t/2 + 1/6
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71. Fill in the blanks with correct option: 76. Identify the plural form of the given word:
The rats all the wires, every now and Beach
then. A) Beachos
A) cutted up B) Beaches
B) cut ups C) Beachess
C) cuts up D) Beachus
D) cutup
72. Fill in the blanks with correct option: 77. Fill in the blanks with correct option:
you in Chennai when you were a After spending a month in hospital, her health is
child? improving
A) Have, lived A) in line with
B) Did live B) by leaps and bounds
C) Did, lived C) for better or for worse
D) Did, used to live D) all and sundry
73. Fill in the blanks with correct option: 78. Fill in the blanks with correct option:
you better now? My favourite subjectis __ Electronics.
A) Are, feeling A) an
B) Have, felt B) the
C) Would, feel C) a
D) Did, feel D) no article
74. Fill in the blanks with correct option: 79. Identify the plural form of the given word:
We can give the money to charity Radio
spending it to watch movies. A) Radioes
A) in light of B) Radios
B) in league with C) Radioess
C) on the contrary to D) Radioss
D) in lieu of
75. Find the synonym of the question word: 80. Identify the plural form of the given word:
Blaze Woman
A) Flame A) Women
B) Warm B) Womens
C) Heat C) Womans
D) Fume D) Womanss
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81. Fillin the blanks with correct option: ge. far fenixst € gre, vigre g3 nife &
fXa 3T 575 S A7 AseT J1
Could you lend me ___ few hundred rupee _
notes? A =
' B) fS&
A) a C) g9
B) an D) J=
C) the
D) no article
82. Find the synonym of the question word: g7. frm uzsie feg “wmu” mee gfenr Je
. erd fxasT uzsie xfde Ia?
Mighty . .
A) TorgSgX U36'<
A) Strong .
B) Udy =9 U3a'<
B) Feeble C) for =ox uzsi<
C) Feathery D) AU 9K UISie
D) Adventurous
83. Fill in the blanks with correct option: gg. “FU3 IH feg nrBz fegt fed' fam

T 88(} f T ?
| don't know if he plays tennis now. He HJI<d <3t 7T 9

A) PTAHTST Ji&%T UET
B) »iut feg gg=t M@=

when he was in college.

A) used to C) wiar =gaT
B) may D) »iut feg &g €337
C) might
D) should
84. Fillin the blanks with correct option: 89, PXTBHI JU T& HEE Fo8T BE Jo
f\?g'ﬁ;pryrr' foTg T f r=y ?
It didn't rain the whole day. | have ort fod foraa mere 2ot Ao 37
A) §i9
brought the umbrella.
B) ug
A) couldn't C) mi=
C) won't
D) needn't
85. Fill in the blanks with correct option: 90. »9H 7" < FES fagt X T gu FEsT §
st IfJe T ?

We should start now. The rain

A) fafamr =ziegr
B) X9+ ect=dr
C) € ecedr

B) is stopping D) XI3T e
C) had stopped

already.

A) would stop

D) has stopped
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91.

92.

93.

94.

95.

96.

97.

“QIS XTGT” HI'=I ©F nigg I ?
A) HId F&TEET

B) €H &8=T

C) Tur ©&r

D) I& IIaT

“UfaQ” A&’ Haed ©F »igg J°?
A) UF ITT T

B) wEgT ATET

C) feo® fegor

D) STo™HI g8t

89 Fx® © fyrtus g6 T fxasT ussi=
TIACT T 2

A) nifero TOx Uzate

B) AYO THX UIFs'e

C) YAs X UIS'<

D) foro Tox Usaie

“Jg a9 fax 7 =t foast gz Axt”
faazs % I2

A) nifeafas 3feus a=

B) Azt 3feus %

C) forfoz 3feuzs o

D) g+t 3feus o

fafonr € famr gu 3 usT &1 fx S T
feg o ugr adt Jfenr AT 9 faar AP
faasT s ITQe T2

A) »ifeHafgs 33 %

B) »Uds 33 &

C) AUIE I3 X

D) AISt 33 X

2 faags st T2
A) HH &<

B) A3t TOx e
C) ¥HA3 T &'<
D) fextoe™x aie

“gie” AIC T nidg I°?
A) IFT XIS

B) Hfox

C) H&T

D) HoH®T

98.

99.

100.

ferms <t faast faa feg 55 nierg=t
Tt g5 ?
A) JIF TO9x ferrs

Jo fou feg” fersdt fSar sie g2
A) T=t
B) fawr
C) axfeT
D) mfag

BreT 8T ITT BRI J| TR T fXIIT gU
J?

A) JIHT T

B) femrat =vx

C) ST T

D) ATOgE X
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Space for Rough Work
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9) Completely darken the CIRCLE so that the alphabet inside the
CIRCLE is not visible. Darken ONLY ONE CIRCLE for each
answer as shown in the example below. The CORRECT and the
WRONG method of darkening the CIRCLE on the OMR sheet are

given below. / difent & ydt 337 I® 99 3ffa I € »ieg f&3
TISHST & miyd & feye| Jat Beads 99 feue e »igag g
39 Bt d=s q 18 & & 94| §Ta Hie 3 318 3 I8 d9s

=1 At w3 %3 Itar Jat fE3T famr J

Correct Method Wrong Method

At 3dtar %3 Idtar
==l W= D O &

56 D8

10) In view of the tight time span, do not waste your time on a
question which you find to be difficult. Go on solving questions one

by one and come back to the difficult questions at the end. / #H €7
fims Jue I8, HAfIS YyAs 3 MU AHT sHe &7 ad | fea-fea
=t 3fim 33|

11) DO NOT make any stray marks anywhere on the OMR
Answer Sheet. DO NOT fold or wrinkle the OMR Answer Sheet.
Rough work MUST NOT be done on the answer sheet. Use your

test booklet for this purpose./ &g Hie 3 fa3 <t It Syar
fors &1 BarQ| ©mmrg Hie 3 &1 13 #f & Jt fem 3 e Ul Ie

7t T JH §39 Hie '3 famas & ad| for aH B vyt i
yAfser &t ft =93 3|

12) Questions are in both English and Punjabi. If any
confusion arises in the Punjabi version, please refer to the
English version_of the question. /W w3 ywret It
It {89 951 Agg UnTHt ARade f&u adt uamat 3, 3t faour
mwémﬁﬁm?mﬁmﬁl

13) OMR Answer Sheets will be processed by electronic
means. Invalidation of the OMR Answer Sheet due to its
folding/ wrinkling or putting of stray marks on it or due to
any other damage to it as well as incomplete/ incorrect
filling of the Answer Sheet or overwriting on the oval or use
of whitener, will be the sole responsibility of the candidate. /
Smmrg §33 Hiet 3 fessagisa fedt enmar afg it At fere
W3/ ¢ uge 7t Jet Sud fors s #f fAd fa @39 die &
WyI/a%3 391 378 FI&T AT A G UT feye AT HeE das T U
dt 293 &8 feHg ¥ae J95 98 AHng 839 Hie € nyHfes
Jd< 3 At ffiedt Gteeg &t d=afh
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